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QUESTION 1

Which three methods can a vSphere administrator use to automatically synchronize time on a ESXi host? (Choose
three.) 

A. Log in to the VMware Host Client, navigate to Host > Manage > Time and date and click Edit settings. 

B. Configure the VMware Tools time synchronization. 

C. Select the host in the vSphere Web Client, navigate to Configure > System > Time Configuration and click the Edit
button. 

D. Use the vicfg-ntp command. 

E. Use the esxcli hardware clock get command in the ESXi Shell. 

Correct Answer: ACD 

 

QUESTION 2

Which two scenarios can cause a VM to appear orphaned in the vSphere Web Client? (Choose two.) 

A. The VM was removed from the vCenter Server. 

B. The VM had an unsuccessful migration within a vSphere DRS cluster. 

C. The ESXi host had an unsuccessful failover event in vSphere HA. 

D. The VM was unregistered from the ESXi host directly. 

Correct Answer: CD 

Reference: https://pubs.vmware.com/vsphere-60/index.jsp?topic=%
2Fcom.vmware.vsphere.troubleshooting.doc%2FGUID-BFD8C9BC-30FB-4A92-AFEC2FC9FF387920.html 

 

QUESTION 3

A VMware vSphere 6.x administrator is creating an Alarm Action. What are three configure actions? (Choose three.) 

A. Run a command. 

B. Shutdown Guest. 

C. Send a notification email. 

D. Restart Guest. 

E. Migrate VM. 

Correct Answer: ACE 
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Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.monitoring.doc/GUID-8F833B44-E675-406D-BFC1-64FB08EF6DFD.html 

 

QUESTION 4

Which type of network traffic is used for vSphere High Availability (HA) by default? 

A. Management network traffic 

B. iSCSI Port Binding network traffic 

C. vMotion network traffic 

D. VM Network traffic 

Correct Answer: A 

Reference: https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.avail.doc/GUIDB1906BCD-
E538-4FFF-AAE9-5403FE253F38.html 

 

QUESTION 5

What are two requirements needed to enable a 4 vCPU virtual machine with Fault Tolerance? (Choose two.) 

A. vSphere Enterprise Plus license 

B. 1 GbE uplink for FT logging network 

C. vSphere Standard license 

D. 10 GbE uplink for FT logging network 

Correct Answer: AD 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.avail.doc/GUID57929CF0-DA9B-407A-BF2E-E7B72708D825.html 

 

QUESTION 6

A vSphere administrator wants to migrate a virtual machine with vMotion from one node to another in the same cluster,
but when the destination server is specified, an error message is displayed. 

What might be wrong? (Choose two.) 

A. The destination host does not have access to the shared datastore. 

B. The hosts are licensed for vSphere Essentials Plus. 

C. The cluster is configured for EVC and the hosts are of the same processor family. 

D. The hosts have a dedicated vMotion VMKernel interface configured. 
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E. The source host is not licensed for vMotion. 

Correct Answer: AD 

 

QUESTION 7

When specifying a trigger action for an Alarm Definition, what two alarm state changes are available to be triggered on?
(Choose two.) 

A. From normal to critical 

B. From critical to warning 

C. From critical to normal 

D. From normal to warning 

Correct Answer: BD 

 

QUESTION 8

A vSphere administrator takes a snapshot before logging into a VM to preserve the current state in case of a problem. 

Assuming this process is repeated every day for over 30 days, what two results will happen? (Choose two.) 

A. The virtual machine\\'s performance will decrease. 

B. The virtual machine can end up consuming more space on the datastore than assigned. 

C. The administrator will have backups for the entire month. 

D. The administrator has successfully cloned the VM 30 times. 

Correct Answer: AB 

Reference: https://kb.vmware.com/s/article/1025279 

 

QUESTION 9

A vSphere administrator has been tasked with ensuring that 500 virtual desktops are unable to communicate with one
another, but can communicate with required services. 

Which two solutions does VMware recommend? (Choose two.) 

A. vSphere Host Firewall 

B. Private VLAN 

C. VMware NSX Distributed Firewall 

D. Port Filtering 
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Correct Answer: BC 

 

QUESTION 10

Which two options does VM Monitoring use to determine if a virtual machine should be reset? (Choose two.) 

A. I/O activity from the virtual machine 

B. CPU activity from the virtual machine 

C. Network activity from the virtual machine 

D. Heartbeats from VMware Tools 

Correct Answer: AD 

 

QUESTION 11

Which are two steps that a vSphere administrator must take to increase the capacity of an existing VMFS datastore that
is participating in a Storage DRS cluster? (Choose two.) 

A. In the vSphere Web Client navigator, select Global Inventory Lists > Datastore Clusters. 

B. Select the target datastore to grow and click the Increase Datastore Capacity icon. 

C. Select the target datastore cluster and click the Add Datastore icon. 

D. In the vSphere Web Client navigator, select Global Inventory Lists > Datastores. 

Correct Answer: BD 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.storage.doc/GUIDD57FEF5D-75F1-433D-B337-E760732282FC.html 

 

QUESTION 12

Which two options are available when configuring a virtual flash resource on a virtual machine? (Choose two.) 

A. Reservation 

B. SCSI Controller 

C. Limit 

D. Block Size 

Correct Answer: AD 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.0/com.vmware.vsphere.storage.doc/GUID211CE783-51A8-4B65-BFF6-434D1C272308.html 
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QUESTION 13

What three shares are available when configuring a Resource Pool? (Choose three.) 

A. Average 

B. Normal 

C. Custom 

D. Low 

E. Maximum 

Correct Answer: BCD 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.resmgmt.doc/GUID0F6C6709-A5DA-4D38-BE08-6CB1002DD13D.html 

 

QUESTION 14

A VMware vSphere 6.x administrator is implementing a new eight-node cluster for business critical applications. Each
server will be configured with two 10 GbE network adapters and will utilize iSCSI for storage on one subnet. 

Which feature is required to implement this solution? 

A. Storage DRS 

B. Network I/O Control 

C. VMKernel Port Binding 

D. LACP 

Correct Answer: C 

Reference: https://kb.vmware.com/s/article/2038869 

 

QUESTION 15

Which two network failure detection options are available when using a vSphere Standard Switch? (Choose two.) 

A. Fixed with preferred path 

B. Dynamic 

C. Link status with Beacon probing D. Link status only 

Correct Answer: CD 

Reference: https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.networking.doc/GUIDD34B1ADD-

Latest 2V0-01.19 Dumps | 2V0-01.19 PDF Dumps | 2V0-01.19 Braindumps                                6 / 7

https://www.passapply.com/2v0-01-19.html
https://www.passapply.com/2v0-01-19.html
https://www.passapply.com/2v0-01-19.html


https://www.passapply.com/2v0-01-19.html
2024 Latest passapply 2V0-01.19 PDF and VCE dumps Download

B8A7-43CD-AA7E-2832A0F7EE76.html 

Latest 2V0-01.19 Dumps 2V0-01.19 PDF Dumps 2V0-01.19 Braindumps

Powered by TCPDF (www.tcpdf.org)

Latest 2V0-01.19 Dumps | 2V0-01.19 PDF Dumps | 2V0-01.19 Braindumps                                7 / 7

https://www.passapply.com/2v0-01-19.html
https://www.passapply.com/2v0-01-19.html
https://www.passapply.com/2v0-01-19.html
http://www.tcpdf.org
https://www.passapply.com/2v0-01-19.html
https://www.passapply.com/2v0-01-19.html
https://www.passapply.com/2v0-01-19.html

